SPC—Ch.6A Review Solutions S.Hogan

The handwritten problem numbers don’t match the review sheet. Ignore them.
31 | (4 points)

A 10-meter telephone pole casts a 17-meter shadow directly down the slope when the
angle of elevation of the sun is 42° (see figure). Find x, the angle of elevation of the
ground.
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32| A surveyor finds that a tree on the opposite bank of a river flowing due east has .
a bearing of N 22¢°E from a certain point and a bearing of N 15° W from a point
400 feet downstream. Draw a diagram for this situation. What is the width of
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33 | Two planes leave Raliegh-Durham Airport at approximately the same time. One
is flying 425 miles per hour at a bearing 355° and the other is flying 530 miles
per hour at a bearing of 67¢. Draw a figure that gives a visual representation of
this problem after they have flown 2 hours AND find the distance between the
two planes. (9 points)
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